

$$\int_u \int_u \delta r^{P^T} \cdot f(P, R) d\mu(R) d\mu(P)$$

$$= \frac{1}{2} \left(\begin{array}{c} \downarrow \\ \dots \end{array} \right) + \frac{1}{2} \left(\begin{array}{c} \downarrow \\ \dots \end{array} \right)$$

$$= \frac{1}{2} \iint_{u \times u} \delta r^{P^T} f(P, R) d\mu(R) d\mu(P) + \frac{1}{2} \iint_{u \times u} \delta r^{R^T} \cdot f(R, P) d\mu(P) \cdot d\mu(R)$$

$$= \frac{1}{2} \iint_{u \times u} \delta r^{P^T} f(P, R) d\mu(R) d\mu(P) + \frac{1}{2} \iint_{u \times u} \delta r^{R^T} \cdot f(R, P) d\mu(R) d\mu(P)$$

$$= \frac{1}{2} \iint_{u \times u} \delta r^{P^T} f(P, R) d\mu(R) d\mu(P) - \frac{1}{2} \iint_{u \times u} \delta r^{R^T} \cdot f(P, R) d\mu(R) d\mu(P)$$

$$= \frac{1}{2} \iint_{u \times u} (\delta r^{P^T} - \delta r^{R^T}) f(P, R) d\mu(R) d\mu(P)$$

$$= \frac{1}{2} \iint_{u \times u} (\delta r^P - \delta r^R)^T \cdot f(P, R) d\mu(R) d\mu(P) = 0$$